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(BERIF1. HLr-0RAMEIR

#Et  |RLWR (B ¥)[ALIR (BE)ELL (E)ID[EAE (BEp)[ELL GRA)| &
15 56

et 262 12 12 3 48
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
QB~ER 262 15 12 56 12 3 48
100.0 100.0 100.0 100.0 100.0 100.0 100.0
=50 i1k BHS HE 55 HII4R 2T
=t 10 2 2 17 24 16 43
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
QB1EH 10 % 4 17 24 16 43
100.0 100.0 100.0 100.0 100.0 100.0 100.0

(BERIF2. HIa-DFERKIE

fEt  |ALMR (B¥R)[ALIR (BF) B4 (E)IDEd (BE)[EL CGRA)| B
15 3

#aEt 262 12 56 12 48
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
M10-201t 3 - - 1 - - 1
1.1 - - 1.8 - - 2.1
@301 9 1 - 3 - - 2
3.4 6.7 - 5.4 - - 42
@401t 27 - - 11 - - 8
10.3 - - 19.6 - - 16.7
@501t 223 14 12 41 12 3 37
85.1 93.3 100.0 732 100.0 100.0 77.1
R - = = = = = =
2250 [EEH BHS HE +i5 48 238
Hi 10 2 4 17 24 16 43
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
d10-201% = = - - 1 - -
- - - - 42 - -
@301t = = = - 1 2 -
- - - - 42 12.5 -
@401t = - - 1 4 3 =
- - - 5.9 16.7 18.8 -
@501t Ll E 10 2 4 16 18 11 43
100.0 100.0 100.0 941 75.0 68.8 100.0
R = = = = = = =

[BEAIF2. HL-ODERIE _D10-201

1.1%

T ——— (@30f%
3.4%

@401t
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(BERIF3. HLT-DREIT

#E ALIR (B3 [ALiR (B 5@k (E)IDESE (B &4t GRB)| &
#ast 264 15 12 56 12 3 50
100.0 100.0 100.0 100.0 100.0 100.0 100.0
DT 74 = 8 10 1 1 16
28.0 - 66.7 17.9 8.3 33.3 32.0
QREM MHE 45 - 2 13 1 1 6
17.0 - 16.7 23.2 8.3 33.3 12.0
QiR 28 1 = 5 1 = 11
10.6 6.7 - 8.9 8.3 - 22.0
@Rk 54 1 = 13 9 1 7
20.5 6.7 - 23.2 75.0 33.3 14.0
OB - Rt 59— 10 - = 1 - - 2
3.8 - - 1.8 - - 4.0
OFKHKE 22 10 1 6 = = 4
8.3 66.7 8.3 10.7 - - 8.0
D% EEERIE 14 3 = 2 = = 2
5.3 20.0 - 3.6 - - 4.0
@nERM 1 - - - - - -
0.4 - - - - - -
@Z 0t 15 - i 6 - - 2
5.7 - 8.3 10.7 - - 4.0
(O 1 - - - - - -
0.4 - - - - - -
T HE | ®e | t# | #iR | 2@EF
it 10 2 4 17 24 16 43
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
DT 5 - 2 5 3 3 20
50.0 - 50.0 294 12.5 18.8 46.5
QRBET- HFEE - - 2 6 10 3 i
- - 50.0 35.3 41.7 18.8 2.3
et 1 - - 3 1 2 3
10.0 - - 17.6 4.2 12.5 7.0
@&l 2 2 = 1 4 5 9
20.0 100.0 - 5.9 16.7 31.3 20.9
OB - FRte 52— 1 - - = 1 - 5
10.0 - - - 4.2 - 11.6
OFKRHBEE - - - - 1 - -
- - - - 4.2 - -
QL EHERIS 1 - - 1 3 2 -
10.0 - - 5.9 12.5 125 -
@NHEM - - - - - - 1
- - - - - - 23
@0t - - - - 1 1 4
- - - - 4.2 6.3 9.3
(O - - - 1 - - -
- - - 5.9 - - -
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[BEARIQ1 (). HiEt-lFon1ERgETLED

#aEt AR CRFR)[ALIR (BB B4t (E)ID|Ed (BE)[EL CRE)|  BERFE
15

st 263 12 56 12 3 49
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
[OH:3 51 1 2 14 1 1 9
19.4 6.7 16.7 25.0 8.3 33.3 18.4
@B hEE 140 6 5 33 3 1 29
53.2 40.0 417 58.9 25.0 33.3 59.2
QB A KFETE 65 6 4 8 7 1 11
ERLEHCELDH 24.7 40.0 33.3 143 58.3 33.3 224
[CERCEET 7 2 1 1 1 - -
#=RLD 2.7 13.3 8.3 1.8 8.3 - .
[GENE - = = = = = =
250 [EEH BHS HE +B% $I48 28T
it 10 2 4 17 24 16 43
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
[@:3 4 = 1 3 6 4 5
40.0 - 25.0 17.6 25.0 25.0 11.6
QBT hEE 5 1 2 9 10 9 27
50.0 50.0 50.0 52.9 417 56.3 62.8
QR EFFERR 1 1 1 5 8 2 10
LB ELH 10.0 50.0 25.0 29.4 33.3 125 23.3
[CEHR SRS - - - = = 1 i
#=RLD - - - - - 6.3 23
[GENE = = = = = = =

[BERAIQ1(1). HEf-[X1 EHEBEETLED

®FH
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(BEAIQ1(2). BETEESKHTS:-OIC AIZHETNIERVDERNETH

et LR (BEIDALR (B H)[Ede (ENDpE (Bi)Edt RY)| &
Et 262 15 12 56 12 3 48
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
DERFIZETER 54 1 6 13 2 - 6
IZIFN DRIHIRE 20.6 6.7 50.0 23.2 16.7 - 125
QRIBRIEEEF D 69 4 1 17 5 1 9
TELPTS 26.3 26.7 8.3 30.4 417 33.3 18.8
QBIER D AR 120 8 5 25 4 2 31
BE{R 458 53.3 417 446 33.3 66.7 64.6
@F Dt 17 2 - 1 - - 2
6.5 13.3 - 1.8 - - 4.2
&FH 2 - - - 1 - -
0.8 - - - 8.3 - -
250 [EEH BE HE + B $I48 28T
it 10 2 4 17 24 16 43
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
DERFIZETER 4 - - 5 4 3 10
IZIFN DRIHIRE 40.0 - - 29.4 16.7 18.8 23.3
QIRBIEEEF D 5 1 1 6 6 5 8
TELYTE 50.0 50.0 25.0 35.3 25.0 31.3 18.6
QBIE A D AR 1 1 3 5 12 7 16
316 10.0 50.0 75.0 294 50.0 438 37.2
@F 0t = - - 1 1 1 9
- - - 59 42 6.3 20.9
BT - - = = 1 = =
—_ —_ — —_ 42 —_ —_

[(FEAIQ1(2). BERTEBZHTH=HIC, EHRETLIE

©FH
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[BEERIQ2(1). HT=IZZD1ER(202051 B ~128) T H QOEXREHBEKE (FK) ZRELELE=M

85 AR (B FLIR (B F)pEde (E)IDpE () Ed (ER)|] &

st 262 15 12 56 12 3 48
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
@oH 4 - 1 2 - - 1
15 - 8.3 3.6 - - 2.1

®1B~5AR 59 - 1 10 2 2 9
225 - 8.3 17.9 16.7 66.7 18.8

®6H~10H 84 2 6 26 - - 13
32.1 13.3 50.0 46.4 - - 27.1

@118~15H 61 4 2 12 5 - 15
23.3 26.7 16.7 21.4 417 - 31.3

®16H~19H 28 5 1 1 3 - 6
10.7 33.3 8.3 1.8 25.0 - 12.5

®20BLE 22 4 1 4 1 1 3
8.4 26.7 8.3 7.1 8.3 33.3 6.3

DEKRDOF EALL 2 - - - - - 1
0.8 - - - - - 2.1
®FH 2 - - 1 1 - -
0.8 - - 1.8 8.3 - -

250 [EEH BE HE + B $I48 28T

£ 10 2 4 17 24 16 43
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
@oAR - - - - - - -
®1B~5H 5 1 1 7 6 7 8
50.0 50.0 25.0 41.2 25.0 438 18.6

®6H~10H 3 1 2 7 7 4 13
30.0 50.0 50.0 41.2 29.2 25.0 30.2

@118~15H 1 - 1 3 5 3 10
10.0 - 25.0 17.6 20.8 18.8 23.3

®16H~19H 1 - - - 6 1 4
10.0 - - - 25.0 6.3 9.3

®20BLE - - - - - 1 7
- - - - - 6.3 16.3

DERDEIEH L - - - - - - 1
- - - - - - 2.3
®TH - - - - - - -

[BERAIQ2(1). 1EMICIEL-FH0 B #IX
DEXRDEHEMN L @FH D0
0.8% 0.8%
®208L L
8.4%
®18~5H8
®16B~19R 22.5%
10.7%
@®118~158 ®6H~10H
23.3% 32.1%




(BEAIQ2(2). EREELI-ERIE? EHEIZE)

5 AL (AL (BB EdL (E)IDRESE (Be)Edk E)| B
WET 290 10 14 64 13 5 45
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
OHEEHELL 45 1 2 7 1 1 6
155 10.0 143 10.9 7.7 20.0 13.3
QAETRE 56 1 - 16 4 1 10
19.3 10.0 - 25.0 30.8 20.0 222
AmYILNFESR 18 - 1 3 1 1 2
6.2 - 7.1 47 7.7 20.0 44
@LETIDEEE 5 - - 2 - - -
1.7 - - 3.1 - - -
ORBIREIEE 36 1 3 5 1 1 2
12.4 10.0 214 78 7.7 20.0 44
®HLLEDT=® 121 6 7 30 6 1 25
417 60.0 50.0 46.9 46.2 20.0 55.6
DFDH 9 1 1 1 - - -
3.1 10.0 7.1 16 - - -
250 [EEH BE HE B $I48 28T
=t 10 2 5 20 37 20 45
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
OHEEHIELL 4 - - 5 4 4 10
400 - - 25.0 10.8 20.0 222
[RIN-EJF = 2 2 4 5 3 8
- 100.0 400 20.0 135 15.0 17.8
@mYILNFER = = = = 6 - 4
- - - - 16.2 - 8.9
@+ m DEERE - - - - 2 - 1
- - - - 54 - 2.2
ORBIREIE S = = 1 6 5 3 8
- - 20.0 30.0 135 15.0 17.8
®HLLEDT=® 2 - 2 5 15 8 14
20.0 - 400 25.0 405 40.0 31.1
DF D 4 = = = = 2 =
400 - - - - 10.0 -
(EERA1Q2(2). FhERLIEHE?
(R ES)
orsxrce I -
orare I
emysougEs [ 18
@raoeE | 5
orskEsrEs [ 5
stLors I
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[(BEA]Q2(3). BRBDIRE LR TLNEN?

it AL EMAL B Ed (E)DRESE (Be)Edk (ER)| B
WET 262 15 12 56 12 3 48
% 100.0 107.6 100.0 100.0 100.0 100.0 100.0
OB TS 199 7 9 34 9 3 45
76.0 46.7 75.0 60.7 75.0 100.0 93.8
QN TN 16 1 1 5 - - 3
6.1 14.3 8.3 8.9 - - 6.3
Q®FH 47 7 2 17 3 - -
17.9 46.7 16.7 30.4 25.0 - -
250 [EEH BE HE + B35 $I48 28T
=t 10 2 4 17 24 16 43
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
OEh TS 9 1 4 16 19 13 30
90.0 50.0 100.0 94.1 79.2 81.3 69.8
QN TV - 1 - - 1 - 4
- 50.0 - - 42 - 9.3
OE: 1 = = 1 4 3 9
10.0 - - 5.9 16.7 18.8 20.9

[(BEAIQ2(3). AR BDIEREEIERA TS, ?

@7 H
17.9%

@B TLMELY

6.1%
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76.0%




[(BERAIQ3 (). HAFE14EM (202051 A ~127) (CAEBKBZEM BERGLEL =,

et LR (BEIDALR (B H)[Ede (ENDpE (Bi)Edt RY)| &
st 257 15 12 56 12 3 43
100.0 100.0 100.0 100.0 100.0 100.0 100.0
DoR 92 5 2 26 3 1 20
35.8 33.3 16.7 46.4 25.0 33.3 46.5
®1~5H 8 - - 3 - - 2
3.1 - - 5.4 - - 47
®6~108 4 - - 2 - - -
1.6 - - 3.6 - - -
@11~15H - - - - - - -
®16~19H - - - - - - -
®20BLE - - - - - - -
DEEKRBOF 111 10 7 12 4 2 19
EHEL 43.2 66.7 58.3 214 33.3 66.7 442
@R+ - 7 - - 1 - - -
HE 2.7 - - 1.8 - - -
[OEN] 35 - 3 12 5 -
13.6 - 25.0 21.4 417 - 47
2250 =R BS HE +i HII1R 28T
s 10 2 4 17 24 16 43
100.0 100.0 100.0 100.0 100.0 100.0 100.0
@oH 3 1 1 2 8 9 11
30.0 50.0 25.0 11.8 33.3 56.3 25.6
®1~5H - - - - 3 - -
- - - - 12.5 - -
®6~108 = = - - 1 - 1
- - - - 42 - 2.3
@11~15H - - - - - - -
®16~19H - - - - - - -
®20BLE - - - - - - -
DEEKREBDF 4 1 3 12 7 5 25
EHEN 40.0 50.0 75.0 70.6 29.2 31.3 58.1
®iEiRT - 2 0 - 3 1 0 =
TE 20.0 - - 17.6 42 - -
OFH 1 - - - 4 2 6
10.0 - - - 16.7 12.5 14.0
[(BEMAIQ3(1). 1E/MIEBKBER ARBLELID
O]z 92
@1 ~5H 8
®6~10H 4
@1 1~15H -
@1 6~19H -
®208BLLE -
DEEIRERD HIE ALY 111
@RS - ARG E 7
OFH 35
- z‘o 40 60 80 100 120




[(BERIQ3(2). MBLEM>=AMBTELEN2EEHZIMN?

#BEr [ALWR (BID)[ALR (BB pEde (E)IDRESL (B Edt GRR)| &

st 253 15 12 56 12 3 39
% 100.0 233.3 100.0 100.0 100.0 100.0 100.0
OF 37 3 1 7 - 1 11
14.6 20.0 8.3 12.5 - 33.3 28.2
@z 124 5 4 24 5 2 24
49.0 166.7 33.3 429 417 66.7 615
Q®FH 92 7 7 25 7 - 4
36.4 46.7 58.3 44.6 58.3 - 10.3

250 [EEH BHS HE +B% $I48 28T
B 10 2 4 17 24 16 43
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
OEh TS - - 1 2 3 3 5
- - 25.0 11.8 12.5 18.8 11.6
QN TV 5 2 2 5 10 11 25
50.0 100.0 50.0 29.4 417 68.8 58.1
QB8 5 - 1 10 1 2 13
50.0 - 25.0 58.8 458 12.5 30.2

[EEAIQ3(2). MGLEMN-AHIEGTEE, -
f=_&lEHdh?

OFH
36.4%
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[(BEAIQ3(3). ABAKRIREZIBTEEINS-EBRHT(EHEZEA)

5 AL (AL (BB EdL (E)IDRESE (Be)Edk E)| B

st 127 6 4 24 4 2 27
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
OEAMELL 16 2 - 3 - - 4
12.6 33.3 - 125 - - 148

QAETRE 9 1 - 2 - 1 1
7.1 16.7 - 8.3 - 50.0 3.7

AmYILNFESR 27 1 - 5 - 1 5
21.3 16.7 - 20.8 - 50.0 185

@LETIDEEE 3 - - - - - 1
24 - - - - - 3.7

OF K THRE 14 - 2 1 - - 3
11.0 - 50.0 42 - - 11.1

®fIEEMSL 9 - - 1 - - 3
7.1 - - 42 - - 11.1

DEREDD 6 - - 2 - - 2
47 - - 8.3 - - 7.4

@it 43 2 2 10 4 - 8
33.9 33.3 50.0 41.7 100.0 - 29.6

250 [EEH BE HE B $I48 28T

s 5 - 2 6 13 7 27
% 100.0 |#DIV/0! 100.0 100.0 100.0 100.0 100.0
OREFEMTELLT 1 - - 1 - - 5
RO 20.0 |#DIV/0! - 16.7 - - 185
QAETRE - - - - - = 4
-|#DIvV/0! - - - - 148

GRYILLERAST = - - 1 3 1 10
-|#DIvV/0! - 16.7 23.1 14.3 37.0

@LRDREE - - - = = - 2
-|#DIvV/0! - - - - 7.4

OF K THRE - - - 2 2 1 3
-|#DIvV/0! - 33.3 15.4 14.3 11.1
OHIEEFSEL - - - 1 3 1 -
-|#DIvV/0! - 16.7 23.1 14.3 -
QERTE D - - - - 2 - -
-|#DIvV/0! - - 15.4 - -

®Fnih 4 - 2 1 3 4 3
80.0 |#DIV/0! 100.0 16.7 23.1 57.1 11.1
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(FEHEET)
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DEfET=DD
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(BERAIQA (). BB FRHIbEMEBEAARHYELS

#BEr [ALWR (BID)[ALR (BB pEde (E)IDRESL (B Edt GRR)| &
Et 262 15 12 56 12 3 48
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
[OFIN 13 1 - 2 - - 2
5.0 6.7 - 3.6 - - 42
@U\hvx 243 14 11 52 12 3 46
92.7 93.3 91.7 92.9 100.0 100.0 95.8
Q7B 6 = 1 2 - - -
2.3 - 8.3 3.6 - - -
250 [EEH BHS HE +B% #I48 28T
BEt 10 2 4 17 24 16 43
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
[OFER 1 - - 1 - 1 5
10.0 - - 5.9 - 6.3 11.6
@U\hvx 9 2 4 16 22 15 37
90.0 100.0 100.0 94.1 91.7 93.8 86.0
QT H - - - = 2 - 1
- - - - 8.3 - 2.3

[BEA)Q4 (). BaAHKEMAEREZEA-A
[FHYELEL

O]FIA

@7 5.0%
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(BERIQ4(2). 1 ER DB IEEFErHX3600FREE X EL=H

#BEr [ALWR (BID)[ALR (BB pEde (E)IDRESL (B Edt GRR)| &
st 260 15 12 56 12 3 46
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
[OER 4 1 = 1 = = =
15 6.7 - 1.8 - - -
@z 246 14 11 51 11 3 46
946 93.3 91.7 91.1 91.7 100.0 100.0
[©ZN:] 10 - 1 4 1 - -
3.8 - 8.3 7.1 8.3 - -
250 [EEH BHS HE +B% #I48 28T
BEt 10 2 4 17 24 16 43
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
[OFER 1 - - - - - 1
10.0 - - - - - 2.3
@U\hvx 9 2 4 17 21 16 41
90.0 100.0 100.0 100.0 87.5 100.0 95.3
Q7B = - - - 3 - 1
- - - - 12.5 - 2.3

[(BERAIQ4(2). 15/ MR BEh 7555 (3 36085
#HAEL-H

3.

@7 H

8%

DI&Ly
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(BEAIQAQ). BHFAEBULKELEI IO THET A

#E FLIR (BFD[ALIR BB Edt (ENDbEde (Be)Edk ()| &
Bt 259 15 12 56 12 3 45
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
[OER 184 8 5 42 9 3 36
71.0 53.3 417 75.0 75.0 100.0 80.0
QFIBEINH D 25 = 3 2 1 = 4
9.7 - 25.0 3.6 8.3 - 8.9
RF-={ZHh 9 1 1 1 = = 5
NTULVEL 35 6.7 8.3 1.8 - - 11.1
@7 41 6 3 11 2 = =
15.8 40.0 25.0 19.6 16.7 - -
2240 [EEH BE HE 1B FI4R ESClnn
gt 10 2 4 17 24 16 43
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
[OFIN 5 1 4 16 14 11 30
50.0 50.0 100.0 94.1 58.3 68.8 69.8
Q#IBEIH S 3 1 = 1 1 3 6
30.0 50.0 - 5.9 42 18.8 14.0
QF-1={ZHb - - - - 1 = =
NTULVEL - - - - 42 - -
@7 2 = = = 8 2 7
20.0 - - - 33.3 125 16.3

[BEA]Q4(3). BHFUEITLITHRINTNET

H
@F 8
15.8%
QF-1=<{FKth
FoY (@AY R
3.5%

QHIBRH H D
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(BERAIQ4(4). HLRYEREHYESH

et LR (BEIDALR (B H)[Ede (ENDpE (Bi)Edt RY)| &
st 261 15 12 56 12 3 47
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
DEEMIZHD 6 3 = 2 = = =
2.3 20.0 - 3.6 - - -
Qfr-EIZH5 36 1 2 7 = = 6
13.8 6.7 16.7 12.5 - - 12.8
[N 205 10 9 45 12 3 36
785 66.7 75.0 80.4 100.0 100.0 76.6
@7HA 14 1 1 2 = = 5
54 6.7 8.3 3.6 - - 10.6
250 [EEH BE HE 1B FI4R 28T
wEt 10 2 4 17 24 16 43
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
DIEEMIZHD = = = 1 = = =
— —_ —_ 59 — —_ —_
Or-%IZh5 2 = 1 3 5 2 7
20.0 - 25.0 17.6 20.8 12.5 16.3
[©AR 8 2 3 12 16 14 35
80.0 100.0 75.0 70.6 66.7 875 81.4
@7HH = = = 1 3 = 1
- - - 5.9 12.5 - 2.3

[BEARIQ4(4). HHIRYERRIEIHYETH

@F 8 DIESMIZHD
5.4% 2.3%
@f-Flzhb
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[BEERIQ5. CO1ERBIZNTRAVREZITELE,

#Et  |ALwR (R¥FHFLIR (B F) &k (ENDEIL (BBE#E)[E GER)| &
st 260 15 12 56 12 3 46
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
DFFt= 18 - 1 4 2 - 3
6.9 - 8.3 71 16.7 - 6.5
@ IFTTHLY 231 14 10 49 9 3 43
88.8 93.3 83.3 87.5 75.0 100.0 93.5
[©ZN:] 11 1 1 3 1 = =
4.2 6.7 8.3 5.4 8.3 - -

5 [EES BE #HE +B% FI4R £3ET

HaEt 10 2 4 17 24 16 43
% 100.0 100.0 100.0 100.0 100.0 100.0 100.0
DF(+1= 1 1 = = 1 2 3
10.0 50.0 - - 4.2 12,5 7.0
Q@I+ THLY 7 1 4 16 21 14 40
70.0 50.0 100.0 94.1 87.5 87.5 93.0
Q7B 2 = = 1 2 = =
20.0 - - 5.9 8.3 - -

[BERA)Q5. CO1ERITNTRAAVMERITEL
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[(BEAlQ5(1).

Z =N SRAAVME

#BEr [ALWR (BID)[ALR (BB pEde (E)IDRESL (B Edt GRR)| &

st 129 15 1 34 2 0 5
100.0 100.0 100.0 100.0 100.0 |#DIV/0! 100.0

atzv/nN\o 16 5 - 3 - - 1
12.4 33.3 - 8.8 -|#DIv/0! 20.0

b/ NS 80 7 1 23 1 - 2
62.0 46.7 100.0 67.6 50.0 |#DIV/0! 40.0
C)NAINT 2 0 - 0 - - -
1.6 - - - -|#DIv/0! -

dF D 12 2 - 3 - - 2
9.3 13.3 - 8.8 —-|#DIv/0! 40.0
SEN:E 19 1 - 5 1 - -
14.7 6.7 - 14.7 50.0 |#DIV/0! -
250 [EEH BE HE + B $I48 28T

st 5 21 6 0 35 2 3
100.0 100.0 100.0 |#DIV/0! 100.0 100.0 100.0

atv/nN\o 1 - - - 4 1 1
20.0 - -|#DIv/0! 11.4 50.0 33.3

b/ NS 2 20 2 - 19 1 2
40.0 95.2 33.3 |#DIV/0! 54.3 50.0 66.7
C)NAINT - 1 - - 1 - -
- 48 -|#DIv/0! 2.9 - -
dE Dt 1 = = = 4 = =
20.0 - -|#DIv/0! 11.4 - -
SEN 1 - 4 - 7 - -
20.0 - 66.7 |#DIV/0! 20.0 - -
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